26 12
(1)
26 14
(2)
15
3)
Cs134 Cs137
25 12
(1) Bg/L
Cs134 Cs137
24 15 130
134 137 10Bg/kg
24 0305
134 137 10Bg/kg
(2) 10Bqg/ kg( )
500Bg/kg
Csl134 Cs137 13 700 Bg/ kg( ) 870 Bg/ kg( )
500Bg/kg
500 501 1,001 1,501 2,001 2,501
-1,000 | -1,500 -2,000 | -2,500
13 2 15
12 (3) 15
03-5521-8316
03-3581-3351
6614

6628



ORE KEE=AR)VI/HR—HE

(Rl #E)

B A T — I H T EEIRE (Ba/L)
) wmp | wkE | TN [RokE ]| BRE | s sS I o o 7 %
No. KIgs () 9
(m) (m) (%o0) (mg/L) (F) Cs-134 Cs-137

. o s . E3E] . 0.5 29 3 1 <1 <1

1 Hh SV FLIRT 1 7 PR TR 2000m A 3T - 1A 14 75 15.8 6.7
R i 21 ek SR I AR R 200 0m 3T = A14H B 48 29 ) ) a a
s . EIE 0.5 29 2 2 <1 <1

AL NIRRT Es i XX 145 Npliy 1A 14 i 2.0 >2.0
A ) VR TS5 THSEHE IR X 15 e R H14H B o 2 P ) 7 7
. . . EIE 0.5 29 3 1 <1 <1

3 Hh SV B #592000m{+ 3T 158 & 19.6 5.2
FERHh S B )1 mfst 3T R H8H 56 20 3 N 7 7
1 397 1)1 469 1000m 52 EE | gop | om 8.6 02 1.8 29 10 3 < <
. T 7.6 29 15 4 <1 <1
JRAT AR EdE] 0.5 29 5 1 <1 <1

5 3 1000mAs T 1H8 & 11.2 : 4.0
AHIERE T Tk JisH 10.2 29 6 2 <1 <1
s . EIE 0.5 29 3 1 <1 <1

6 )1 9 1000m AT 1H8 = 11.0 4.5
AR T Tha JisH 10.0 29 3 1 <1 <1
7 SN 92000m e 3T fE 1H9H = 16.5 lg' 2 5.0 ;z 2 1 2 2
PR 2%; o. 5 29 6 2 <1 <1

8 HEJ 1 7H91000m e 3T = 1A10 5 12.6 : 2.9
I T Tha H10H : 11.6 29 8 3 <1 <1
. . EE] 0.5 29 7 3 <1 <1

9 B )1 59 1000m AT 1410 5 10.7 2.9
[it] ) 1 74 mfst 3T = H10H H 97 29 T 3 7 7
N . . EE] 0.5 30 16 4 <1 <1

10| MEZERT Hb 2 i i [7H%91000m 3T 1H9 = 11.6 2.3
FOSERT Hh sk AN 1000m e 3T R H9H 0.6 20 20 1 7 7
" N . 8 0.5 30 4 1 <1 <1

113 =T B 59 1000mf+ 58 1A9 = 12.2 3.5
7 5L TR] 194 1000mdsH 3T = H9H s 20 : ) 7 7
S . 8 0.5 30 9 3 <1 <1

12 [T 1 7359 1000mf+ 56 1A9 = 11.2 2.5
KA 1749 1000mdsH 3T = H9H o2 20 o ) 7 7
13[usi & s 51 T 1500mf i £ pion | ow 7.5 | %0 3.2 31 A ! a a
T 16.5 31 8 2 <1 <1
14|/ ik PE BRI S5 200 AA9400m AT gl 1H10H i 17.0 0.5 2.3 30 6 2 < <
T 16.0 30 8 3 <1 <1
. . ; . e 0.5 30 3 1 <1 1

15| H R 1 S FH 154 1000mA<) 1A10 i 18.2 6.0
TREYS e EEPAIRC A mf~f U1 T H10H H 72 20 3 I g g

- BRI, AED> 5 B RR A
- O PEE IR OBAEITIE, FHEGRESE NG N TV D03, AW TIEEDHE L Th7Rn,




OB EEE=SI/HRE—E

FEI b A o — I H W EEIRIE [Ba/kg (HzIE) ]
\ mme | ki | NF Tem | aRE | . TS U 4 i
No. AKI4 () E2IN .
(cm) % Cs—134 Cs—137 it

1[4 OB Hh S ek SR AR I 2000m ) 30T 1A 148 i 15.8 10 70| + 2L b 20 61 81
2R ik TEEME IR X 15 R Ao 3T 1A14R i 2.0 10 7004 « > vk 44 120 164
3[R B e v bk ELIP )19 2000mf 3T 1A8H & 19.6 10 75 w <10 13 13
4 o B F I 1000m A 307 LH9A Z 8.6 10 76 w 15 28 43
5 JRIT AT K 1000mf 3 1A8H & 11.2 10 75 w 22 59 81
6 /N E I 1000m AT 1A8H = 11.0 10 75 10 11 34 45
7 i 25 7)1 2000mf 3T 1A9H & 16.5 10 78|#5 - 2L b 42 91 133
8 FORHR PR b REJI 49 1000m e 3/T 1A10AH i 12.6 10 76 b 210 490 700
9 & )1 19 1000m AT 1A10H 5 10.7 10 76 w 150 360 510
10 [FE BERT Hi Sk A1 1000mf 3T 1A9A e 11.6 10 73 Vi 58 140 198
L1 R AT A 55 1000m {36 1A9H & 12.2 10 75 it 52 140 192
12| R AR O {49 1000mf 4T 1H9H E 11.2 10 74 i 45 110 155
13|\ o = T Hh ek B 1500mf 3T 1A10H 5 17.5 10 75 iz 24 66 90
14]/N 4 s PEBH I 20 AEK9400m AT | 1H10H 5 17.0 10 58 Lk 100 270 370
15| 4R Ik I B ) 159 1000m 3T 1A10H i 18.2 10 73 i 32 90 122

< BRECHLEE, A DR,
o« EHVER R B OB IR, FHEGEESENE TN TV DR, AREHICB W TIEEHE L T,
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